LakeCounty Division of Transportation	1									
Summary of Bids Received Project: Hawley Street Resurfacing Section: 20-00999-79-RS Resurfacing Hawley Street within the project limits, removing and replacing the existing bike path along Hawley Street within the project limits, culvert and guardrail improvements on Hawley Street, ADA curb ramp improvements, addressing drainage concerns on Fremont Center Road north of Fremont Elementary/Intermediate School, and other related work. CPMS Pin: B-01490 Let Date: 3/15/2022										
Bidder Peter Baker & Son Company Engineer's Estimate	Address 1349 Rockland Road	City, State, Zip Lake Bluff, IL 60044	Bond Bid Bond	Bid Price \$3,086,777.01 \$4,239,300.11	% Over/Under Eng. Estimate -27.19%	\$ Over/Under Eng. Estimate -\$1,152,523.10				
Design Finance Construction	IDOT(2) Bid Tab File Project File	Contract Bidder Resident Eng. Request By Mail		оunty Engineer Igr Capital Progra	mming					



Project: Hawley Street Resurfacing

Section: 20-00999-79-RS

Resurfacing Hawley Street within the project limits, removing and replacing the existing bike path along Hawley Street within the

Description: project limits, culvert and guardrail improvements on Hawley Street, ADA curb ramp improvements, addressing drainage

concerns on Fremont Center Road north of Fremont Elementary/Intermediate School, and other related work.

Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	Peter Baker &	Son Company
No.	Pay Code	Description	Quantity	Offic	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20101100	TREE TRUNK PROTECTION	10.0	EACH	\$125.00	\$1,250.00	\$100.00	\$1,000.00
2	20101200	TREE ROOT PRUNING	10.0	EACH	\$140.00	\$1,400.00	\$120.00	\$1,200.00
3	20101300	TREE PRUNING (1 TO 10 INCH DIAMETER)	35.0	EACH	\$78.00	\$2,730.00	\$60.00	\$2,100.00
4	20200100	EARTH EXCAVATION	2,563.0	CU YD	\$35.00	\$89,705.00	\$64.80	\$166,082.40
5	20200600	EXCAVATING AND GRADING EXISTING SHOULDER	215.0	UNIT	\$250.00	\$53,750.00	\$404.00	\$86,860.00
6	20800150	TRENCH BACKFILL	19.0	CU YD	\$62.00	\$1,178.00	\$96.32	\$1,830.08
7	21001000	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	1,381.0	SQYD	\$2.50	\$3,452.50	\$2.17	\$2,996.77
8	21301052	EXPLORATION TRENCH 52" DEPTH	100.0	FOOT	\$50.00	\$5,000.00	\$32.40	\$3,240.00
9	25100127	MULCH, METHOD 3A	0.3	ACRE	\$3,500.00	\$1,050.00	\$3,200.00	\$960.00
10	28000250	TEMPORARY EROSION CONTROL SEEDING	181.0	POUND	\$5.50	\$995.50	\$5.00	\$905.00
11	28000305	TEMPORARY DITCH CHECKS	140.0	FOOT	\$15.00	\$2,100.00	\$10.00	\$1,400.00
12	28000400	PERIMETER EROSION BARRIER	2,150.0	FOOT	\$4.00	\$8,600.00	\$3.00	\$6,450.00
13	28000510	INLET FILTERS	61.0	EACH	\$170.00	\$10,370.00	\$185.00	\$11,285.00



Project: Hawley Street Resurfacing

Section: 20-00999-79-RS

Resurfacing Hawley Street within the project limits, removing and replacing the existing bike path along Hawley Street within the

Description: project limits, culvert and guardrail improvements on Hawley Street, ADA curb ramp improvements, addressing drainage

concerns on Fremont Center Road north of Fremont Elementary/Intermediate School, and other related work.

Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	Peter Baker &	\$1,530.80 \$39,979.95 17 \$202,772.57 01 \$373.18 01 \$342.01 75 \$135,833.50 00 \$4,500.00 00 \$4,716.00
No.	l uy couc		<u> </u>		Unit Price	Extnd. Price	Unit Price	Extnd. Price
14	28100101	STONE RIPRAP CL A1	215.0	SQ YD	\$52.00	\$11,180.00	\$103.94	\$22,347.10
15	28200200	FILTER FABRIC	215.0	SQ YD	\$5.00	\$1,075.00	\$7.12	\$1,530.80
16	30300112	AGGREGATE SUBGRADE IMPROVEMENT 12"	1,381.0	SQ YD	\$25.00	\$34,525.00	\$28.95	\$39,979.95
17	35101400	AGGREGATE BASE COURSE, TYPE B	6,721.0	TON	\$35.00	\$235,235.00	\$30.17	\$202,772.57
18	40600275	BITUMINOUS MATERIALS (PRIME COAT)	37,318.0	POUND	\$1.50	\$55,977.00	\$0.01	\$373.18
19	40600290	BITUMINOUS MATERIALS (TACK COAT)	34,201.0	POUND	\$1.50	\$51,301.50	\$0.01	\$342.01
20	40600370	LONGITUDINAL JOINT SEALANT	49,394.0	FOOT	\$2.50	\$123,485.00	\$2.75	\$135,833.50
21	40600400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	30.0	TON	\$330.00	\$9,900.00	\$150.00	\$4,500.00
22	40600982	HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	1,572.0	SQ YD	\$16.00	\$25,152.00	\$3.00	\$4,716.00
23	40600990	TEMPORARY RAMP	551.0	SQ YD	\$19.00	\$10,469.00	\$5.00	\$2,755.00
24	40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	5,871.0	TON	\$75.00	\$440,325.00	\$67.00	\$393,357.00
25	40603200	POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50	439.0	TON	\$110.00	\$48,290.00	\$101.00	\$44,339.00



Project: Hawley Street Resurfacing

Section: 20-00999-79-RS

Resurfacing Hawley Street within the project limits, removing and replacing the existing bike path along Hawley Street within the

Description: project limits, culvert and guardrail improvements on Hawley Street, ADA curb ramp improvements, addressing drainage

concerns on Fremont Center Road north of Fremont Elementary/Intermediate School, and other related work.

Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	Peter Baker &	Son Company
No.	,	23337,	<u> </u>	-	Unit Price	Extnd. Price	Unit Price	Extnd. Price
26	40604060	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N50	9,704.0	TON	\$80.00	\$776,320.00	\$81.00	\$786,024.00
27	42001300	PROTECTIVE COAT	792.0	SQ YD	\$2.00	\$1,584.00	\$1.00	\$792.00
28	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	5,461.0	SQ FT	\$14.00	\$76,454.00	\$8.50	\$46,418.50
29	42400800	DETECTABLE WARNINGS	595.0	SQ FT	\$33.00	\$19,635.00	\$35.00	\$20,825.00
30	44000155	HOT-MIX ASPHALT SURFACE REMOVAL, 1 1/2"	48,582.0	SQ YD	\$3.00	\$145,746.00	\$1.75	\$85,018.50
31	44000159	HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/2"	6,455.0	SQ YD	\$3.75	\$24,206.25	\$2.75	\$17,751.25
32	44000161	HOT-MIX ASPHALT SURFACE REMOVAL, 3"	2,130.0	SQ YD	\$5.00	\$10,650.00	\$3.25	\$6,922.50
33	44000500	COMBINATION CURB AND GUTTER REMOVAL	484.0	FOOT	\$14.50	\$7,018.00	\$8.00	\$3,872.00
34	44000600	SIDEWALK REMOVAL	1,327.0	SQ FT	\$4.50	\$5,971.50	\$1.50	\$1,990.50
35	44201725	CLASS D PATCHES, TYPE I, 7 INCH	15.0	SQ YD	\$82.00	\$1,230.00	\$30.00	\$450.00
36	44201729	CLASS D PATCHES, TYPE II, 7 INCH	23.0	SQ YD	\$64.00	\$1,472.00	\$30.00	\$690.00
37	44201733	CLASS D PATCHES, TYPE III, 7 INCH	69.0	SQ YD	\$61.00	\$4,209.00	\$30.00	\$2,070.00



Project: Hawley Street Resurfacing

Section: 20-00999-79-RS

Resurfacing Hawley Street within the project limits, removing and replacing the existing bike path along Hawley Street within the

Description: project limits, culvert and guardrail improvements on Hawley Street, ADA curb ramp improvements, addressing drainage

concerns on Fremont Center Road north of Fremont Elementary/Intermediate School, and other related work.

Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	Peter Baker &	Son Company
No.					Unit Price	Extnd. Price	Unit Price	Extnd. Price
38	44201735	CLASS D PATCHES, TYPE IV, 7 INCH	46.0	SQ YD	\$59.00	\$2,714.00	\$30.00	\$1,380.00
39	44201737	CLASS D PATCHES, TYPE I, 8 INCH	161.0	SQ YD	\$100.00	\$16,100.00	\$35.00	\$5,635.00
40	44201741	CLASS D PATCHES, TYPE II, 8 INCH	242.0	SQ YD	\$97.00	\$23,474.00	\$35.00	\$8,470.00
41	44201745	CLASS D PATCHES, TYPE III, 8 INCH	725.0	SQ YD	\$95.00	\$68,875.00	\$35.00	\$25,375.00
42	44201747	CLASS D PATCHES, TYPE IV, 8 INCH	483.0	SQ YD	\$77.00	\$37,191.00	\$35.00	\$16,905.00
43	44201761	CLASS D PATCHES, TYPE I, 10 INCH	106.0	SQ YD	\$85.00	\$9,010.00	\$40.00	\$4,240.00
44	44201765	CLASS D PATCHES, TYPE II, 10 INCH	159.0	SQ YD	\$121.00	\$19,239.00	\$40.00	\$6,360.00
45	44201769	CLASS D PATCHES, TYPE III, 10 INCH	510.0	SQ YD	\$115.00	\$58,650.00	\$40.00	\$20,400.00
46	44201771	CLASS D PATCHES, TYPE IV, 10 INCH	319.0	SQ YD	\$87.00	\$27,753.00	\$40.00	\$12,760.00
47	48101200	AGGREGATE SHOULDERS, TYPE B	1,265.0	TON	\$40.00	\$50,600.00	\$25.00	\$31,625.00
48	54213660	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 15"	2.0	EACH	\$1,000.00	\$2,000.00	\$1,150.15	\$2,300.30
49	550A0070	STORM SEWERS, CLASS A, TYPE 1 15"	360.0	FOOT	\$91.00	\$32,760.00	\$71.08	\$25,588.80
50	550A0120	STORM SEWERS, CLASS A, TYPE 1 24"	24.0	FOOT	\$111.00	\$2,664.00	\$312.00	\$7,488.00
51	55101200	STORM SEWER REMOVAL 24"	24.0	FOOT	\$30.00	\$720.00	\$56.88	\$1,365.12



Project: Hawley Street Resurfacing

Section: 20-00999-79-RS

Resurfacing Hawley Street within the project limits, removing and replacing the existing bike path along Hawley Street within the

Description: project limits, culvert and guardrail improvements on Hawley Street, ADA curb ramp improvements, addressing drainage

concerns on Fremont Center Road north of Fremont Elementary/Intermediate School, and other related work.

Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	Peter Baker &	Son Company
No.	,	2333.4	,		Unit Price	Extnd. Price	Unit Price	Extnd. Price
52	60100905	PIPE DRAINS 4"	100.0	FOOT	\$45.00	\$4,500.00	\$29.50	\$2,950.00
53	60100915	PIPE DRAINS 6"	100.0	FOOT	\$50.00	\$5,000.00	\$32.50	\$3,250.00
54	60300105	FRAMES AND GRATES TO BE ADJUSTED	4.0	EACH	\$614.00	\$2,456.00	\$535.00	\$2,140.00
55	60300305	FRAMES AND LIDS TO BE ADJUSTED	11.0	EACH	\$577.00	\$6,347.00	\$700.00	\$7,700.00
56	60404950	FRAMES AND GRATES, TYPE 24	2.0	EACH	\$406.00	\$812.00	\$320.00	\$640.00
57	60406100	FRAMES AND LIDS, TYPE 1, CLOSED LID	8.0	EACH	\$358.00	\$2,864.00	\$300.00	\$2,400.00
58	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	38.0	FOOT	\$50.00	\$1,900.00	\$35.00	\$1,330.00
59	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	483.0	FOOT	\$60.00	\$28,980.00	\$38.00	\$18,354.00
60	63000001	STEEL PLATE BEAM GUARDRAIL, TYPE A, 6 FOOT POSTS	438.0	FOOT	\$30.00	\$13,140.00	\$34.00	\$14,892.00
61	63100167	TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) TANGENT	2.0	EACH	\$3,500.00	\$7,000.00	\$3,400.00	\$6,800.00
62	63200310	GUARDRAIL REMOVAL	538.0	FOOT	\$10.00	\$5,380.00	\$6.00	\$3,228.00
63	64200108	SHOULDER RUMBLE STRIPS, 8 INCH	14,690.0	FOOT	\$2.50	\$36,725.00	\$1.21	\$17,774.90



Project: Hawley Street Resurfacing

Section: 20-00999-79-RS

Resurfacing Hawley Street within the project limits, removing and replacing the existing bike path along Hawley Street within the

Description: project limits, culvert and guardrail improvements on Hawley Street, ADA curb ramp improvements, addressing drainage

concerns on Fremont Center Road north of Fremont Elementary/Intermediate School, and other related work.

						Ī		
Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	Peter Baker &	Son Company
No.	-	·	_		Unit Price	Extnd. Price	Unit Price	Extnd. Price
64	66900200	NON-SPECIAL WASTE DISPOSAL	60.0	CU YD	\$107.00	\$6,420.00	\$182.50	\$10,950.00
65	66900450	SPECIAL WASTE PLANS AND REPORTS	1.0	L SUM	\$5,000.00	\$5,000.00	\$2,400.00	\$2,400.00
66	66900530	SOIL DISPOSAL ANALYSIS	3.0	EACH	\$1,625.00	\$4,875.00	\$1,300.00	\$3,900.00
67	67100100	MOBILIZATION	1.0	L SUM	\$275,000.00	\$275,000.00	\$180,000.00	\$180,000.00
68	70300100	SHORT TERM PAVEMENT MARKING	10,987.0	FOOT	\$1.20	\$13,184.40	\$0.30	\$3,296.10
69	70300150	SHORT TERM PAVEMENT MARKING REMOVAL	3,663.0	SQ FT	\$2.85	\$10,439.55	\$0.01	\$36.63
70	70300211	TEMPORARY PAVEMENT MARKING LETTERS AND SYMBOLS - PAINT	1,228.0	SQ FT	\$3.00	\$3,684.00	\$0.01	\$12.28
71	70300221	TEMPORARY PAVEMENT MARKING - LINE 4"- PAINT	57,430.0	FOOT	\$0.50	\$28,715.00	\$0.01	\$574.30
72	70300231	TEMPORARY PAVEMENT MARKING - LINE 5"- PAINT	15,108.0	FOOT	\$0.65	\$9,820.20	\$0.01	\$151.08
73	70300241	TEMPORARY PAVEMENT MARKING - LINE 6"- PAINT	42,091.0	FOOT	\$0.75	\$31,568.25	\$0.01	\$420.91
74	70300261	TEMPORARY PAVEMENT MARKING - LINE 12"- PAINT	2,160.0	FOOT	\$1.50	\$3,240.00	\$0.01	\$21.60



Project: Hawley Street Resurfacing

Section: 20-00999-79-RS

Resurfacing Hawley Street within the project limits, removing and replacing the existing bike path along Hawley Street within the

Description: project limits, culvert and guardrail improvements on Hawley Street, ADA curb ramp improvements, addressing drainage

concerns on Fremont Center Road north of Fremont Elementary/Intermediate School, and other related work.

Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	Peter Baker &	Son Company
No.	,	2000.p.no	4	· · · · ·	Unit Price	Extnd. Price	Unit Price	Extnd. Price
75	70300281	TEMPORARY PAVEMENT MARKING - LINE 24"- PAINT	3,157.0	FOOT	\$3.00	\$9,471.00	\$0.01	\$31.57
76	70307120	TEMPORARY PAVEMENT MARKING - LINE 4" - TYPE IV TAPE	8,667.0	FOOT	\$1.20	\$10,400.40	\$1.00	\$8,667.00
77	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	936.0	SQ FT	\$7.20	\$6,739.20	\$4.00	\$3,744.00
78	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	28,998.0	FOOT	\$2.15	\$62,345.70	\$0.55	\$15,948.90
79	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	32,151.0	FOOT	\$1.00	\$32,151.00	\$0.65	\$20,898.15
80	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	4,284.0	FOOT	\$2.10	\$8,996.40	\$0.85	\$3,641.40
81	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	4,557.0	FOOT	\$4.20	\$19,139.40	\$1.75	\$7,974.75
82	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	292.0	FOOT	\$8.50	\$2,482.00	\$4.00	\$1,168.00
83	78300202	PAVEMENT MARKING REMOVAL - WATER BLASTING	100.0	SQ FT	\$16.00	\$1,600.00	\$25.00	\$2,500.00
84	81028230	UNDERGROUND CONDUIT, GALVANIZED STEEL, 3 1/2" DIA.	50.0	FOOT	\$34.00	\$1,700.00	\$81.60	\$4,080.00



Project: Hawley Street Resurfacing

Section: 20-00999-79-RS

Resurfacing Hawley Street within the project limits, removing and replacing the existing bike path along Hawley Street within the

Description: project limits, culvert and guardrail improvements on Hawley Street, ADA curb ramp improvements, addressing drainage

concerns on Fremont Center Road north of Fremont Elementary/Intermediate School, and other related work.

Item	Pay Code	Description	Eng Estimate Peter Baker Quantity Unit		Peter Baker &	r & Son Company		
No.	. ay coac	2000.p.no	<u> </u>	· · · · ·	Unit Price	Extnd. Price	Unit Price	Extnd. Price
85	85000200	MAINTENANCE OF EXISTING TRAFFIC SIGNAL INSTALLATION	1.0	EACH	\$2,650.00	\$2,650.00	\$1,760.00	\$1,760.00
86		ELECTRIC CABLE IN CONDUIT, EQUIPMENT GROUNDING CONDUCTOR, NO. 6 1C	50.0	FOOT	\$2.75	\$137.50	\$14.60	\$730.00
87	87800100	CONCRETE FOUNDATION, TYPE A	4.0	FOOT	\$260.00	\$1,040.00	\$532.00	\$2,128.00
88	87900200	DRILL EXISTING HANDHOLE	1.0	EACH	\$345.00	\$345.00	\$457.00	\$457.00
89	88102717	PEDESTRIAN SIGNAL HEAD, LED, 1-FACE BRACKET MOUNTED WITH COUNTDOWN TIMER	1.0	EACH	\$710.00	\$710.00	\$588.00	\$588.00
90	88800100	PEDESTRIAN PUSH-BUTTON	1.0	EACH	\$425.00	\$425.00	\$369.00	\$369.00
91	89502200	MODIFY EXISTING CONTROLLER	1.0	EACH	\$1,620.00	\$1,620.00	\$1,455.00	\$1,455.00
92	89502350	REMOVE AND REINSTALL ELECTRIC CABLE FROM CONDUIT	100.0	FOOT	\$2.00	\$200.00	\$8.80	\$880.00
93	89502375	REMOVE EXISTING TRAFFIC SIGNAL EQUIPMENT	1.0	EACH	\$3,850.00	\$3,850.00	\$1,760.00	\$1,760.00
94	K0029634	WEED CONTROL, PRE-EMERGENT GRANULAR HERBICIDE	395.0	POUND	\$37.00	\$14,615.00	\$2.25	\$888.75
95	LC200051	REJECTED LOAD TRANSPORTATION	10.0	LOAD	\$300.00	\$3,000.00	\$0.01	\$0.10



Project: Hawley Street Resurfacing

Section: 20-00999-79-RS

Resurfacing Hawley Street within the project limits, removing and replacing the existing bike path along Hawley Street within the

Description: project limits, culvert and guardrail improvements on Hawley Street, ADA curb ramp improvements, addressing drainage

concerns on Fremont Center Road north of Fremont Elementary/Intermediate School, and other related work.

Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	Peter Baker &	Son Company
No.	,	2000.		· · · · ·	Unit Price	Extnd. Price	Unit Price	Extnd. Price
96	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	31,316.0	UNIT	\$1.00	\$31,316.00	\$1.00	\$31,316.00
97	Т (.ДППТПП	BUTT JOINT FOR ENTRANCE RESURFACING	1,597.0	SQYD	\$15.03	\$24,002.91	\$3.00	\$4,791.00
98	LC500231	GRATING FOR CONCRETE FLARED END SECTION 24"	1.0	EACH	\$1,200.00	\$1,200.00	\$925.00	\$925.00
99	LC600200	INSTALL SURVEY MONUMENTS	13.0	EACH	\$750.00	\$9,750.00	\$450.00	\$5,850.00
100	LC782000	GUARDRAIL REFLECTORS	22.0	EACH	\$13.00	\$286.00	\$10.00	\$220.00
101	LC800150	REBUILD EXISTING HEAVY DUTY HANDHOLE	2.0	EACH	\$350.00	\$700.00	\$2,795.00	\$5,590.00
102	X0326898	CENTER LINE - RUMBLE STRIP - 16"	6,503.0	FOOT	\$2.25	\$14,631.75	\$1.40	\$9,104.20
103	X0327036	BIKE PATH REMOVAL	16,236.0	SQ YD	\$25.00	\$405,900.00	\$10.72	\$174,049.92
104	X0327890	DRIVEWAY REMOVAL AND REPLACEMENT	232.0	SQYD	\$65.00	\$15,080.00	\$37.00	\$8,584.00
105	X1400319	TRAFFIC SIGNAL POST, 10 FOOT, (SPECIAL)	1.0	EACH	\$1,375.00	\$1,375.00	\$5,040.00	\$5,040.00
106	X2800500	INLET PROTECTION, SPECIAL	52.0	EACH	\$180.00	\$9,360.00	\$150.00	\$7,800.00



Project: Hawley Street Resurfacing

Section: 20-00999-79-RS

Resurfacing Hawley Street within the project limits, removing and replacing the existing bike path along Hawley Street within the

Description: project limits, culvert and guardrail improvements on Hawley Street, ADA curb ramp improvements, addressing drainage

concerns on Fremont Center Road north of Fremont Elementary/Intermediate School, and other related work.

Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	Peter Baker &	7.00 \$1,337.00 5.00 \$13,900.00 0.00 \$10,500.00 0.00 \$61,499.00 0.45 \$5,851.80 2.00 \$2,134.00 0.28 \$8,119.44
No.	,	2000.,р.но	<u> </u>		Unit Price	Extnd. Price	Unit Price	Extnd. Price
107	X4021000	TEMPORARY ACCESS (PRIVATE ENTRANCE)	2.0	EACH	\$580.00	\$1,160.00	\$50.00	\$100.00
108	X5420615	PIPE CULVERTS TO BE CLEANED 15"	191.0	FOOT	\$10.00	\$1,910.00	\$7.00	\$1,337.00
109	X6030205	FRAMES AND GRATES TO BE ADJUSTED (SPECIAL)	20.0	EACH	\$1,475.00	\$29,500.00	\$695.00	\$13,900.00
110	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	7.0	CAL MO	\$3,350.00	\$23,450.00	\$1,500.00	\$10,500.00
111	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$150,000.00	\$150,000.00	\$61,499.00	\$61,499.00
112		HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 4 INCH	13,004.0	FOOT	\$1.00	\$13,004.00	\$0.45	\$5,851.80
113	X7830060	GROOVING FOR RECESSED PAVEMENT MARKING, LETTERS AND SYMBOLS	1,067.0	FOOT	\$4.00	\$4,268.00	\$2.00	\$2,134.00
114	X / X 3 0 0 7 0	GROOVING FOR RECESSED PAVEMENT MARKING 5"	28,998.0	FOOT	\$0.50	\$14,499.00	\$0.28	\$8,119.44
115	X7830072	GROOVING FOR RECESSED PAVEMENT MARKING 6"	32,151.0	FOOT	\$0.60	\$19,290.60	\$0.35	\$11,252.85
116	X7830074	GROOVING FOR RECESSED PAVEMENT MARKING 7"	4,284.0	FOOT	\$0.70	\$2,998.80	\$0.45	\$1,927.80



Project: Hawley Street Resurfacing

Section: 20-00999-79-RS

Resurfacing Hawley Street within the project limits, removing and replacing the existing bike path along Hawley Street within the

Description: project limits, culvert and guardrail improvements on Hawley Street, ADA curb ramp improvements, addressing drainage

concerns on Fremont Center Road north of Fremont Elementary/Intermediate School, and other related work.

Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	Peter Baker &	\$584.00 \$590.00 \$5 \$45,753.75 \$1,000.00 \$60.00 \$7,920.00 \$1,400.00 \$8,667.00 \$0 \$1,50.00
No.	1 ay oode	Везеприон	Quantity	Offic	Unit Price	Extnd. Price	Unit Price	Extnd. Price
117	X7830078	GROOVING FOR RECESSED PAVEMENT MARKING 13"	4,557.0	FOOT	\$1.40	\$6,379.80	\$1.00	\$4,557.00
118	X / X.30090	GROOVING FOR RECESSED PAVEMENT MARKING 25"	292.0	FOOT	\$3.00	\$876.00	\$2.00	\$584.00
119	XX000856	MAILBOX REMOVAL AND RELOCATION	2.0	EACH	\$450.00	\$900.00	\$295.00	\$590.00
120	XX006343	SEEDING (COMPLETE)	8,715.0	SQ YD	\$6.00	\$52,290.00	\$5.25	\$45,753.75
121	XX006658	FLOCCULATION LOGS	5.0	EACH	\$90.00	\$450.00	\$200.00	\$1,000.00
122	XX006659	FLOCCULATION POWDER	5.0	POUND	\$105.00	\$525.00	\$12.00	\$60.00
123	A A U U O 1.3U	DRAINAGE STRUCTURE TO BE CLEANED & GROUTED	11.0	EACH	\$780.00	\$8,580.00	\$720.00	\$7,920.00
124	XX008865	PERMEABLE PLASTIC BERM	140.0	FOOT	\$15.00	\$2,100.00	\$10.00	\$1,400.00
125	XX009142	PAVEMENT MARKING REMOVAL (SPECIAL)	2,889.0	SQ FT	\$16.00	\$46,224.00	\$3.00	\$8,667.00
126	XX206400	MAILBOX POST	2.0	EACH	\$150.00	\$300.00	\$75.00	\$150.00
127	Z0030850	TEMPORARY INFORMATION SIGNING	72.0	SQ FT	\$22.00	\$1,584.00	\$20.00	\$1,440.00
		Bid Total				\$4,239,300.11		\$3,086,777.01



Project: Hawley Street Resurfacing

Section: 20-00999-79-RS

Resurfacing Hawley Street within the project limits, removing and replacing the existing bike path along Hawley Street within

Description: the project limits, culvert and guardrail improvements on Hawley Street, ADA curb ramp improvements, addressing drainage

concerns on Fremont Center Road north of Fremont Elementary/Intermediate School, and other related work.

Item	Day Cada	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid Price
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Price	Price	
1	20101100	TREE TRUNK PROTECTION	10.0	EACH	\$125.00	\$1,250.00	\$100.00	\$100.00	\$100.00
2	20101200	TREE ROOT PRUNING	10.0	EACH	\$140.00	\$1,400.00	\$120.00	\$120.00	\$120.00
3	20101300	TREE PRUNING (1 TO 10 INCH DIAMETER)	35.0	EACH	\$78.00	\$2,730.00	\$60.00	\$60.00	\$60.00
4	20200100	EARTH EXCAVATION	2,563.0	CU YD	\$35.00	\$89,705.00	\$64.80	\$64.80	\$64.80
5	/U/UUNUU	EXCAVATING AND GRADING EXISTING SHOULDER	215.0	UNIT	\$250.00	\$53,750.00	\$404.00	\$404.00	\$404.00
6	20800150	TRENCH BACKFILL	19.0	CU YD	\$62.00	\$1,178.00	\$96.32	\$96.32	\$96.32
7		GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	1,381.0	SQYD	\$2.50	\$3,452.50	\$2.17	\$2.17	\$2.17
8	21301052	EXPLORATION TRENCH 52" DEPTH	100.0	FOOT	\$50.00	\$5,000.00	\$32.40	\$32.40	\$32.40
9	25100127	MULCH, METHOD 3A	0.3	ACRE	\$3,500.00	\$1,050.00	\$3,200.00	\$3,200.00	\$3,200.00
10	28000250	TEMPORARY EROSION CONTROL SEEDING	181.0	POUND	\$5.50	\$995.50	\$5.00	\$5.00	\$5.00
11	28000305	TEMPORARY DITCH CHECKS	140.0	FOOT	\$15.00	\$2,100.00	\$10.00	\$10.00	\$10.00
12	28000400	PERIMETER EROSION BARRIER	2,150.0	FOOT	\$4.00	\$8,600.00	\$3.00	\$3.00	\$3.00
13	28000510	INLET FILTERS	61.0	EACH	\$170.00	\$10,370.00	\$185.00	\$185.00	\$185.00



Project: Hawley Street Resurfacing

Section: 20-00999-79-RS

Resurfacing Hawley Street within the project limits, removing and replacing the existing bike path along Hawley Street within

Description: the project limits, culvert and guardrail improvements on Hawley Street, ADA curb ramp improvements, addressing drainage

concerns on Fremont Center Road north of Fremont Elementary/Intermediate School, and other related work.

Item	Pay Code	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid Price
No.	Pay Code	Description	Quantity	Oilit	Unit Price	Extnd. Price	Price	Price	
14	28100101	STONE RIPRAP CL A1	215.0	SQ YD	\$52.00	\$11,180.00	\$103.94	\$103.94	\$103.94
15	28200200	FILTER FABRIC	215.0	SQ YD	\$5.00	\$1,075.00	\$7.12	\$7.12	\$7.12
16	30300112	AGGREGATE SUBGRADE IMPROVEMENT 12"	1,381.0	SQ YD	\$25.00	\$34,525.00	\$28.95	\$28.95	\$28.95
17	35101400	AGGREGATE BASE COURSE, TYPE B	6,721.0	TON	\$35.00	\$235,235.00	\$30.17	\$30.17	\$30.17
18	40600275	BITUMINOUS MATERIALS (PRIME COAT)	37,318.0	POUND	\$1.50	\$55,977.00	\$0.01	\$0.01	\$0.01
19	40600290	BITUMINOUS MATERIALS (TACK COAT)	34,201.0	POUND	\$1.50	\$51,301.50	\$0.01	\$0.01	\$0.01
20	40600370	LONGITUDINAL JOINT SEALANT	49,394.0	FOOT	\$2.50	\$123,485.00	\$2.75	\$2.75	\$2.75
21	40600400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	30.0	TON	\$330.00	\$9,900.00	\$150.00	\$150.00	\$150.00
22	40600982	HOT-MIX ASPHALT SURFACE REMOVAL - BUTT JOINT	1,572.0	SQ YD	\$16.00	\$25,152.00	\$3.00	\$3.00	\$3.00
23	40600990	TEMPORARY RAMP	551.0	SQ YD	\$19.00	\$10,469.00	\$5.00	\$5.00	\$5.00
24	40603080	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	5,871.0	TON	\$75.00	\$440,325.00	\$67.00	\$67.00	\$67.00
25	40603200	POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50	439.0	TON	\$110.00	\$48,290.00	\$101.00	\$101.00	\$101.00



Project: Hawley Street Resurfacing

Section: 20-00999-79-RS

Resurfacing Hawley Street within the project limits, removing and replacing the existing bike path along Hawley Street within

Description: the project limits, culvert and guardrail improvements on Hawley Street, ADA curb ramp improvements, addressing drainage

concerns on Fremont Center Road north of Fremont Elementary/Intermediate School, and other related work.

Item	Day Cada	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Price	Price	Price
26	40604060	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N50	9,704.0	TON	\$80.00	\$776,320.00	\$81.00	\$81.00	\$81.00
27	42001300	PROTECTIVE COAT	792.0	SQ YD	\$2.00	\$1,584.00	\$1.00	\$1.00	\$1.00
28	47400700	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	5,461.0	SQ FT	\$14.00	\$76,454.00	\$8.50	\$8.50	\$8.50
29	42400800	DETECTABLE WARNINGS	595.0	SQ FT	\$33.00	\$19,635.00	\$35.00	\$35.00	\$35.00
30	44000155	HOT-MIX ASPHALT SURFACE REMOVAL, 1 1/2"	48,582.0	SQ YD	\$3.00	\$145,746.00	\$1.75	\$1.75	\$1.75
31		HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/2"	6,455.0	SQ YD	\$3.75	\$24,206.25	\$2.75	\$2.75	\$2.75
32		HOT-MIX ASPHALT SURFACE REMOVAL, 3"	2,130.0	SQ YD	\$5.00	\$10,650.00	\$3.25	\$3.25	\$3.25
33	440000	COMBINATION CURB AND GUTTER REMOVAL	484.0	FOOT	\$14.50	\$7,018.00	\$8.00	\$8.00	\$8.00
34	44000600	SIDEWALK REMOVAL	1,327.0	SQ FT	\$4.50	\$5,971.50	\$1.50	\$1.50	\$1.50
35	44201725	CLASS D PATCHES, TYPE I, 7 INCH	15.0	SQ YD	\$82.00	\$1,230.00	\$30.00	\$30.00	\$30.00
36	44201729	CLASS D PATCHES, TYPE II, 7 INCH	23.0	SQ YD	\$64.00	\$1,472.00	\$30.00	\$30.00	\$30.00
37	44201733	CLASS D PATCHES, TYPE III, 7 INCH	69.0	SQ YD	\$61.00	\$4,209.00	\$30.00	\$30.00	\$30.00



Project: Hawley Street Resurfacing

Section: 20-00999-79-RS

Resurfacing Hawley Street within the project limits, removing and replacing the existing bike path along Hawley Street within

Description: the project limits, culvert and guardrail improvements on Hawley Street, ADA curb ramp improvements, addressing drainage

concerns on Fremont Center Road north of Fremont Elementary/Intermediate School, and other related work.

Item	Pay Code	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Offic	Unit Price	Extnd. Price	Price	Price	Price
38	44201735	CLASS D PATCHES, TYPE IV, 7 INCH	46.0	SQ YD	\$59.00	\$2,714.00	\$30.00	\$30.00	\$30.00
39	44201737	CLASS D PATCHES, TYPE I, 8 INCH	161.0	SQ YD	\$100.00	\$16,100.00	\$35.00	\$35.00	\$35.00
40	44201741	CLASS D PATCHES, TYPE II, 8 INCH	242.0	SQ YD	\$97.00	\$23,474.00	\$35.00	\$35.00	\$35.00
41	44201745	CLASS D PATCHES, TYPE III, 8 INCH	725.0	SQ YD	\$95.00	\$68,875.00	\$35.00	\$35.00	\$35.00
42	44201747	CLASS D PATCHES, TYPE IV, 8 INCH	483.0	SQ YD	\$77.00	\$37,191.00	\$35.00	\$35.00	\$35.00
43	44201761	CLASS D PATCHES, TYPE I, 10 INCH	106.0	SQ YD	\$85.00	\$9,010.00	\$40.00	\$40.00	\$40.00
44	44201765	CLASS D PATCHES, TYPE II, 10 INCH	159.0	SQ YD	\$121.00	\$19,239.00	\$40.00	\$40.00	\$40.00
45	44201769	CLASS D PATCHES, TYPE III, 10 INCH	510.0	SQ YD	\$115.00	\$58,650.00	\$40.00	\$40.00	\$40.00
46	44201771	CLASS D PATCHES, TYPE IV, 10 INCH	319.0	SQ YD	\$87.00	\$27,753.00	\$40.00	\$40.00	\$40.00
47	48101200	AGGREGATE SHOULDERS, TYPE B	1,265.0	TON	\$40.00	\$50,600.00	\$25.00	\$25.00	\$25.00
48	5/17/13hhll	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 15"	2.0	EACH	\$1,000.00	\$2,000.00	\$1,150.15	\$1,150.15	\$1,150.15
49	550A0070	STORM SEWERS, CLASS A, TYPE 1 15"	360.0	FOOT	\$91.00	\$32,760.00	\$71.08	\$71.08	\$71.08
50	550A0120	STORM SEWERS, CLASS A, TYPE 1 24"	24.0	FOOT	\$111.00	\$2,664.00	\$312.00	\$312.00	\$312.00
51	55101200	STORM SEWER REMOVAL 24"	24.0	FOOT	\$30.00	\$720.00	\$56.88	\$56.88	\$56.88



Project: Hawley Street Resurfacing

Section: 20-00999-79-RS

Resurfacing Hawley Street within the project limits, removing and replacing the existing bike path along Hawley Street within

Description: the project limits, culvert and guardrail improvements on Hawley Street, ADA curb ramp improvements, addressing drainage

concerns on Fremont Center Road north of Fremont Elementary/Intermediate School, and other related work.

Item	Day Cada	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Price	Price	Price
52	60100905	PIPE DRAINS 4"	100.0	FOOT	\$45.00	\$4,500.00	\$29.50	\$29.50	\$29.50
53	60100915	PIPE DRAINS 6"	100.0	FOOT	\$50.00	\$5,000.00	\$32.50	\$32.50	\$32.50
54	60300105	FRAMES AND GRATES TO BE ADJUSTED	4.0	EACH	\$614.00	\$2,456.00	\$535.00	\$535.00	\$535.00
55	60300305	FRAMES AND LIDS TO BE ADJUSTED	11.0	EACH	\$577.00	\$6,347.00	\$700.00	\$700.00	\$700.00
56	60404950	FRAMES AND GRATES, TYPE 24	2.0	EACH	\$406.00	\$812.00	\$320.00	\$320.00	\$320.00
57	60406100	FRAMES AND LIDS, TYPE 1, CLOSED LID	8.0	EACH	\$358.00	\$2,864.00	\$300.00	\$300.00	\$300.00
58	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	38.0	FOOT	\$50.00	\$1,900.00	\$35.00	\$35.00	\$35.00
59	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	483.0	FOOT	\$60.00	\$28,980.00	\$38.00	\$38.00	\$38.00
60	63000001	STEEL PLATE BEAM GUARDRAIL, TYPE A, 6 FOOT POSTS	438.0	FOOT	\$30.00	\$13,140.00	\$34.00	\$34.00	\$34.00
61	63100167	TRAFFIC BARRIER TERMINAL, TYPE 1 (SPECIAL) TANGENT	2.0	EACH	\$3,500.00	\$7,000.00	\$3,400.00	\$3,400.00	\$3,400.00
62	63200310	GUARDRAIL REMOVAL	538.0	FOOT	\$10.00	\$5,380.00	\$6.00	\$6.00	\$6.00
63	64200108	SHOULDER RUMBLE STRIPS, 8 INCH	14,690.0	FOOT	\$2.50	\$36,725.00	\$1.21	\$1.21	\$1.21



Project: Hawley Street Resurfacing

Section: 20-00999-79-RS

Resurfacing Hawley Street within the project limits, removing and replacing the existing bike path along Hawley Street within

Description: the project limits, culvert and guardrail improvements on Hawley Street, ADA curb ramp improvements, addressing drainage

concerns on Fremont Center Road north of Fremont Elementary/Intermediate School, and other related work.

Item	Pay Code	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid Price
No.	ray code	Description	Quantity	Oilit	Unit Price	Extnd. Price	Price	Price	
64	66900200	NON-SPECIAL WASTE DISPOSAL	60.0	CU YD	\$107.00	\$6,420.00	\$182.50	\$182.50	\$182.50
65	66900450	SPECIAL WASTE PLANS AND REPORTS	1.0	L SUM	\$5,000.00	\$5,000.00	\$2,400.00	\$2,400.00	\$2,400.00
66	66900530	SOIL DISPOSAL ANALYSIS	3.0	EACH	\$1,625.00	\$4,875.00	\$1,300.00	\$1,300.00	\$1,300.00
67	67100100	MOBILIZATION	1.0	L SUM	\$275,000.00	\$275,000.00	\$180,000.00	\$180,000.00	\$180,000.00
68	70300100	SHORT TERM PAVEMENT MARKING	10,987.0	FOOT	\$1.20	\$13,184.40	\$0.30	\$0.30	\$0.30
69	70300150	SHORT TERM PAVEMENT MARKING REMOVAL	3,663.0	SQ FT	\$2.85	\$10,439.55	\$0.01	\$0.01	\$0.01
70	70300211	TEMPORARY PAVEMENT MARKING LETTERS AND SYMBOLS - PAINT	1,228.0	SQ FT	\$3.00	\$3,684.00	\$0.01	\$0.01	\$0.01
71	70300221	TEMPORARY PAVEMENT MARKING - LINE 4"- PAINT	57,430.0	FOOT	\$0.50	\$28,715.00	\$0.01	\$0.01	\$0.01
72	70300231	TEMPORARY PAVEMENT MARKING - LINE 5"- PAINT	15,108.0	FOOT	\$0.65	\$9,820.20	\$0.01	\$0.01	\$0.01
73	70300241	TEMPORARY PAVEMENT MARKING - LINE 6"- PAINT	42,091.0	FOOT	\$0.75	\$31,568.25	\$0.01	\$0.01	\$0.01
74	70300261	TEMPORARY PAVEMENT MARKING - LINE 12"- PAINT	2,160.0	FOOT	\$1.50	\$3,240.00	\$0.01	\$0.01	\$0.01



Project: Hawley Street Resurfacing

Section: 20-00999-79-RS

Resurfacing Hawley Street within the project limits, removing and replacing the existing bike path along Hawley Street within

Description: the project limits, culvert and guardrail improvements on Hawley Street, ADA curb ramp improvements, addressing drainage

concerns on Fremont Center Road north of Fremont Elementary/Intermediate School, and other related work.

Item	Day Cada	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Price	Price	Price
75	70300281	TEMPORARY PAVEMENT MARKING - LINE 24"- PAINT	3,157.0	FOOT	\$3.00	\$9,471.00	\$0.01	\$0.01	\$0.01
76	70307120	TEMPORARY PAVEMENT MARKING - LINE 4" - TYPE IV TAPE	8,667.0	FOOT	\$1.20	\$10,400.40	\$1.00	\$1.00	\$1.00
77	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	936.0	SQ FT	\$7.20	\$6,739.20	\$4.00	\$4.00	\$4.00
78	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	28,998.0	FOOT	\$2.15	\$62,345.70	\$0.55	\$0.55	\$0.55
79	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	32,151.0	FOOT	\$1.00	\$32,151.00	\$0.65	\$0.65	\$0.65
80	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	4,284.0	FOOT	\$2.10	\$8,996.40	\$0.85	\$0.85	\$0.85
81	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	4,557.0	FOOT	\$4.20	\$19,139.40	\$1.75	\$1.75	\$1.75
82	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	292.0	FOOT	\$8.50	\$2,482.00	\$4.00	\$4.00	\$4.00
83	78300202	PAVEMENT MARKING REMOVAL - WATER BLASTING	100.0	SQ FT	\$16.00	\$1,600.00	\$25.00	\$25.00	\$25.00
84	81028230	UNDERGROUND CONDUIT, GALVANIZED STEEL, 3 1/2" DIA.	50.0	FOOT	\$34.00	\$1,700.00	\$81.60	\$81.60	\$81.60



Project: Hawley Street Resurfacing

Section: 20-00999-79-RS

Resurfacing Hawley Street within the project limits, removing and replacing the existing bike path along Hawley Street within

Description: the project limits, culvert and guardrail improvements on Hawley Street, ADA curb ramp improvements, addressing drainage

concerns on Fremont Center Road north of Fremont Elementary/Intermediate School, and other related work.

Item	Day Code	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Price	Price	Price
85	85000200	MAINTENANCE OF EXISTING TRAFFIC SIGNAL INSTALLATION	1.0	EACH	\$2,650.00	\$2,650.00	\$1,760.00	\$1,760.00	\$1,760.00
86	87301900	ELECTRIC CABLE IN CONDUIT, EQUIPMENT GROUNDING CONDUCTOR, NO. 6 1C	50.0	FOOT	\$2.75	\$137.50	\$14.60	\$14.60	\$14.60
87	87800100	CONCRETE FOUNDATION, TYPE A	4.0	FOOT	\$260.00	\$1,040.00	\$532.00	\$532.00	\$532.00
88	87900200	DRILL EXISTING HANDHOLE	1.0	EACH	\$345.00	\$345.00	\$457.00	\$457.00	\$457.00
89	88102717	PEDESTRIAN SIGNAL HEAD, LED, 1-FACE BRACKET MOUNTED WITH COUNTDOWN TIMER	1.0	EACH	\$710.00	\$710.00	\$588.00	\$588.00	\$588.00
90	88800100	PEDESTRIAN PUSH-BUTTON	1.0	EACH	\$425.00	\$425.00	\$369.00	\$369.00	\$369.00
91	89502200	MODIFY EXISTING CONTROLLER	1.0	EACH	\$1,620.00	\$1,620.00	\$1,455.00	\$1,455.00	\$1,455.00
92	89502350	REMOVE AND REINSTALL ELECTRIC CABLE FROM CONDUIT	100.0	FOOT	\$2.00	\$200.00	\$8.80	\$8.80	\$8.80
93	89502375	REMOVE EXISTING TRAFFIC SIGNAL EQUIPMENT	1.0	EACH	\$3,850.00	\$3,850.00	\$1,760.00	\$1,760.00	\$1,760.00
94	K0029634	WEED CONTROL, PRE-EMERGENT GRANULAR HERBICIDE	395.0	POUND	\$37.00	\$14,615.00	\$2.25	\$2.25	\$2.25
95	LC200051	REJECTED LOAD TRANSPORTATION	10.0	LOAD	\$300.00	\$3,000.00	\$0.01	\$0.01	\$0.01



Project: Hawley Street Resurfacing

Section: 20-00999-79-RS

Resurfacing Hawley Street within the project limits, removing and replacing the existing bike path along Hawley Street within

Description: the project limits, culvert and guardrail improvements on Hawley Street, ADA curb ramp improvements, addressing drainage

concerns on Fremont Center Road north of Fremont Elementary/Intermediate School, and other related work.

Item	Pay Code	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid Price
No.	Pay Code	Description	Quantity	Offic	Unit Price	Extnd. Price	Price	Price	
96	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	31,316.0	UNIT	\$1.00	\$31,316.00	\$1.00	\$1.00	\$1.00
97	1 (400100	BUTT JOINT FOR ENTRANCE RESURFACING	1,597.0	SQYD	\$15.03	\$24,002.91	\$3.00	\$3.00	\$3.00
98	1 しらいしょく	GRATING FOR CONCRETE FLARED END SECTION 24"	1.0	EACH	\$1,200.00	\$1,200.00	\$925.00	\$925.00	\$925.00
99	LC600200	INSTALL SURVEY MONUMENTS	13.0	EACH	\$750.00	\$9,750.00	\$450.00	\$450.00	\$450.00
100	LC782000	GUARDRAIL REFLECTORS	22.0	EACH	\$13.00	\$286.00	\$10.00	\$10.00	\$10.00
101	LC800150	REBUILD EXISTING HEAVY DUTY HANDHOLE	2.0	EACH	\$350.00	\$700.00	\$2,795.00	\$2,795.00	\$2,795.00
102	X0326898	CENTER LINE - RUMBLE STRIP - 16"	6,503.0	FOOT	\$2.25	\$14,631.75	\$1.40	\$1.40	\$1.40
103	X0327036	BIKE PATH REMOVAL	16,236.0	SQ YD	\$25.00	\$405,900.00	\$10.72	\$10.72	\$10.72
104	X1137/XUII	DRIVEWAY REMOVAL AND REPLACEMENT	232.0	SQYD	\$65.00	\$15,080.00	\$37.00	\$37.00	\$37.00
105	X1400319	TRAFFIC SIGNAL POST, 10 FOOT, (SPECIAL)	1.0	EACH	\$1,375.00	\$1,375.00	\$5,040.00	\$5,040.00	\$5,040.00
106	X2800500	INLET PROTECTION, SPECIAL	52.0	EACH	\$180.00	\$9,360.00	\$150.00	\$150.00	\$150.00



Project: Hawley Street Resurfacing

Section: 20-00999-79-RS

Resurfacing Hawley Street within the project limits, removing and replacing the existing bike path along Hawley Street within

Description: the project limits, culvert and guardrail improvements on Hawley Street, ADA curb ramp improvements, addressing drainage

concerns on Fremont Center Road north of Fremont Elementary/Intermediate School, and other related work.

Item	Day Code	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Price	Price	Price
107	X4021000	TEMPORARY ACCESS (PRIVATE ENTRANCE)	2.0	EACH	\$580.00	\$1,160.00	\$50.00	\$50.00	\$50.00
108	X5420615	PIPE CULVERTS TO BE CLEANED 15"	191.0	FOOT	\$10.00	\$1,910.00	\$7.00	\$7.00	\$7.00
109	X6030205	FRAMES AND GRATES TO BE ADJUSTED (SPECIAL)	20.0	EACH	\$1,475.00	\$29,500.00	\$695.00	\$695.00	\$695.00
110	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	7.0	CAL MO	\$3,350.00	\$23,450.00	\$1,500.00	\$1,500.00	\$1,500.00
111	X7010216	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	1.0	L SUM	\$150,000.00	\$150,000.00	\$61,499.00	\$61,499.00	\$61,499.00
112	X7800815	HOT SPRAY THERMOPLASTIC PAVEMENT MARKING LINE - 4 INCH	13,004.0	FOOT	\$1.00	\$13,004.00	\$0.45	\$0.45	\$0.45
113	X7830060	GROOVING FOR RECESSED PAVEMENT MARKING, LETTERS AND SYMBOLS	1,067.0	FOOT	\$4.00	\$4,268.00	\$2.00	\$2.00	\$2.00
114	X7830070	GROOVING FOR RECESSED PAVEMENT MARKING 5"	28,998.0	FOOT	\$0.50	\$14,499.00	\$0.28	\$0.28	\$0.28
115	X7830072	GROOVING FOR RECESSED PAVEMENT MARKING 6"	32,151.0	FOOT	\$0.60	\$19,290.60	\$0.35	\$0.35	\$0.35
116	X7830074	GROOVING FOR RECESSED PAVEMENT MARKING 7"	4,284.0	FOOT	\$0.70	\$2,998.80	\$0.45	\$0.45	\$0.45



Project: Hawley Street Resurfacing

Section: 20-00999-79-RS

Resurfacing Hawley Street within the project limits, removing and replacing the existing bike path along Hawley Street within

Description: the project limits, culvert and guardrail improvements on Hawley Street, ADA curb ramp improvements, addressing drainage

concerns on Fremont Center Road north of Fremont Elementary/Intermediate School, and other related work.

Item	Pay Code	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid Price
No.	ray code	Description	Quantity	Offic	Unit Price	Extnd. Price	Price	Price	
117	X / X.3UU / X	GROOVING FOR RECESSED PAVEMENT MARKING 13"	4,557.0	FOOT	\$1.40	\$6,379.80	\$1.00	\$1.00	\$1.00
118	X / X 31111911	GROOVING FOR RECESSED PAVEMENT MARKING 25"	292.0	FOOT	\$3.00	\$876.00	\$2.00	\$2.00	\$2.00
119	XX000856	MAILBOX REMOVAL AND RELOCATION	2.0	EACH	\$450.00	\$900.00	\$295.00	\$295.00	\$295.00
120	XX006343	SEEDING (COMPLETE)	8,715.0	SQ YD	\$6.00	\$52,290.00	\$5.25	\$5.25	\$5.25
121	XX006658	FLOCCULATION LOGS	5.0	EACH	\$90.00	\$450.00	\$200.00	\$200.00	\$200.00
122	XX006659	FLOCCULATION POWDER	5.0	POUND	\$105.00	\$525.00	\$12.00	\$12.00	\$12.00
123	X X I II I X I 3 I I	DRAINAGE STRUCTURE TO BE CLEANED & GROUTED	11.0	EACH	\$780.00	\$8,580.00	\$720.00	\$720.00	\$720.00
124	XX008865	PERMEABLE PLASTIC BERM	140.0	FOOT	\$15.00	\$2,100.00	\$10.00	\$10.00	\$10.00
125		PAVEMENT MARKING REMOVAL (SPECIAL)	2,889.0	SQ FT	\$16.00	\$46,224.00	\$3.00	\$3.00	\$3.00
126	XX206400	MAILBOX POST	2.0	EACH	\$150.00	\$300.00	\$75.00	\$75.00	\$75.00
127	Z0030850	TEMPORARY INFORMATION SIGNING	72.0	SQ FT	\$22.00	\$1,584.00	\$20.00	\$20.00	\$20.00
		Bid Total				\$4,239,300.11			